	Теңсіздіктерді аралықтар әдісімен шешіңіз және сәйкес жауап арқылы фоторобот құрастырыңыз.

Беті: 
1. A)    (КВАДРАТ)
2. B)    (ТІК ТӨРТБҰРЫШ)
3. C)                            (ҮШБҰРЫШ)
4. D)                        (ДӨҢГЕЛЕК)

Көздері: 
1. A)      (ШАРШЫ)
2. B)                         (ТІК ТӨРТБҰРЫШ)
3. C)                                         (ДӨҢГЕЛЕК)
4. D)                                         (ҮШБҰРЫШ)

Мұрны:
1. A)                          (ШАРШЫ)
2. B)                                           (ДӨҢГЕЛЕК)
3. C)        (ҮШБҰРЫШ)
4. D)                                           (ТІК ТӨРТБҰРЫШ)

Ауызы:
1. A)            (ҮШБҰРЫШ)
2. B)                                                (ДӨҢГЕЛЕК)
3. C)                                 (ТІК ТӨРТБҰРЫШ)
4. D)          (ШАРШЫ)

Денесі:
1. A)       (ҮШБҰРЫШ)
2. B)       (ШАРШЫ)
3. C)                             (ДӨҢГЕЛЕК)
4. D)         (ТІК ТӨРТБҰРЫШ)
Фоторобот: 
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